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 :       . 
 

1. ()    A, B  C      .  A 
20,000   ` 10      .    
      : 14 

           
-A -B -C 

` ` ` 

   30,000 50,000 20,000 

  90,000 1,40,000 1,20,000 

  21,000 23,750 40,180 

  :    

  () 19,000 18,200 16,200 

  3% 5% 8% 

     2.50 5.00 10.00 

   ,        . 

 

 (i)    X   Y  Z     . 7 

        : 

   ` 2,04,600 

    ` 1,45,200 

    ` 1,12,200 



MC-104 2  

       .   

 
 X  Y  Z 

` ` ` 

  36,000 28,800 32,400 

 43,200 25,200 30,600 

  46,800 18,000 21,000 

  7,56,000 3,12,000 3,00,000 

    50% 50% 30% 

            X   . 

 (ii)   :     . 7 

 ()           .     
. (  ) 4 

(1)  . 1     5,000,   4,600  .  
    10%       ?

   (A) 100  (B) 200 

(C) 300  (D) 400 

(2)   25,000,   4,000 ,   5,000   
    ?

   (A) 25,000  (B) 26,000 

(C) 20,000  (D) 21,000 

(3)    ` 50,000 .     20%    
   25%         .

   (A) ` 12,500  ` 10,000 (B) ` 10,000  ` 10,000

(C) ` 12,500  ` 12,500 (D) ` 10,000  ` 12,500

(4)  X     30,000,      8%, 
  27,000 . 

         .

   (A) 2,400 (B) 3,000

(C) 240 (D) 600
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(5)       ?
   (A)  (B) 

(C)  (D) 
(6)  X 50,000  ` 5,50,000       

44,000  ` 13,20,000   Y    . 
 X 5,000    ` 35,000  ,  
  .

   (A) ` 7,000 (B) ` 30,000

(C) ` 37,000 (D) ` 47,000

 

2. ()    . 2     : 14 

 
 

 
 

 
 (`) 

    :  450 18,450 

  50%   

 80%   

  80%   

 . 1  : 100% 5,700 2,05,200 

     

   11,850 

   56,100 

    22,440 

 . 3   : 
( ) 

100% 5,250  

     900  

 100%   

 80%   

  80%   

    : 
  (A)  . 2  . 
  (B) FIFO     . 
  (C)     . 

 
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           .  2018   

      : 14 

     
 X  Y  Z   

` ` ` ` 

  60,000 36,000 30,000 75,000 

  39,000 60,000 1,20,000  

  30,000 31,500 1,50,000  

   30,000 75,000 75,000  

  15,000 18,000 96,000 99,000 

     – 

   

20% 25% 10%  

      – 6,000 8,400 30,000 

          .      

  Z   ,      .               

` 9,00,000  . 

        . 

  (i)      . 

  (ii)   . 

  (iii) -     
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 ()           .     
. (  ) 4 
(1)           

      ?
   (A)   (B)     

(C)   (D)  
(2)  -      : 

  
(  :  75%) 

12,000  

  35,000 

  2,500  

   
(  :   60%) 

7,500 

FIFO          ?
   (A) 39,500  (B) 30,500 

(C) 42,500  (D)    
(3)      ,    ,    

      .
   (A)  (B) 

(C)  (D)    
(4)       : 

 
     

` ` 

-X 60,000 – 

-Y 1,20,000 20,000 

-Z 2,00,000 24,000 

   3,00,000 28,000 

         :
   (A) ` 3,00,000 (B) ` 72,000

(C) ` 2,72,000 (D) ` 6,08,000
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(5)            , 
     “  ”    .

   (A)  (B) 
(C)  (D)    

(6)    ,   -2   -2 
  .   
     ` 8 000

     ` 12 000

  ` 38 000

   (A) ` 42,000 (B) ` 34,000

(C) ` 58,000 (D) ` 46,000
 
3. ()     2017-18        

  :  14 

 `  
   5 00 000

  2 50 000

  1 50 000

   5 00 000 (60% )
   6 00 000 (80% )
   3 00 000 (60% )
 2 00 000

    : 
  (i)  . 
  (ii)  . 
  (iii) ` 30,00,000   . 
  (iv)   20%    / . 
  (v)    10%    / . 

 
   . (  ) 14 
  (i)    

  (ii)   
  (iii)   

  (iv)      

  (v)   

  (vi)   

  (vii)   
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 ()    /  . (  ) 3 
(1)    ?
(2)   .
(3)               

  ?
(4)    .
(5)  –  .

 

4. ()  .   .  . 1-4-2018        
     .      .  
 31-3-2018       : 14 

  

  . 
` 

 . 
` 

  . 
` 

 . 
` 

 :      

     
` 100  
 37,50,000 30,00,000 

  45,00,000 31,50,000 

-     15,00,000 13,50,000 

  7,50,000 6,75,000    

: 
 3,00,000 1,50,000 

   

  
 1,20,000 30,000 

   

-  1,50,000 2,25,000    

       

15%  
( ` 100 ) 

6,00,000 3,00,000    

 
 

     

 3,30,000 1,20,000    

 60,00,000 45,00,000  60,00,000 45,00,000 
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     

  (1)  .   .  15%    . 10%  
 ` 100          . 

  (2)  .   .      .   4  
  ` 30         ` 10 . 

  (3)        . 

         .    .  . 1-4-2018 
 -  . 

   (i)    . 

   (ii)    . 

 

  (i)  -14        
. 7 

  (ii)     ?        
. 7 

 ()  -14  /     . (  ) 3 

(i)             ?

(ii)      -14  .

(iii)     ?

(iv)         ?

(v)        ?  

 
_________ 
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Instructions :  Figures at the right indicate marks.  

 
1. (A) A product passes through three processes A, B and C. 20,000 units were 

introduced to process A at ` 10 per unit. The other direct expenses and other 

information are as follows : 14 

    Particulars 
Process-A Process-B Process-C 

` ` ` 

Sundry materials 30,000 50,000 20,000 

Direct labour 90,000 1,40,000 1,20,000 

Direct expenses 21,000 23,750 40,180 

Other information :    

Actual output (in units) 19,000 18,200 16,200 

Normal wastage 3% 5% 8% 

Selling price of normal wastage per unit 2.50 5.00 10.00 

  Prepare process accounts, abnormal wastage and abnormal gain accounts. 

OR 

 (i) In seema company main product is X and by-product is Y and Z. The combined 

expenses of production are as under : 7 

  Materials ` 2,04,600 

  Labour ` 1,45,200 

  Overheads ` 1,12,200 
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  Separate expenses are as under : 

Particulars 
Product-X Product-Y Product-Z 

` ` ` 

Materials 36,000 28,800 32,400 

Labour 43,200 25,200 30,600 

Overheads 46,800 18,000 21,000 

Selling price 7,56,000 3,12,000 3,00,000 

Profit on selling price 50% 50% 30% 

  Prepare statement showing distribution of combined expense and cost-sheet of 
main product-X. 

 (ii) Distinguish between job costing and process costing. 7 
 

 (B) In the following sub-questions more than one answers are given. Select the 
correct answer. (any four) 4 
(1) Unit introduced in Process-1 5,000. Actual production 4,600 units, Normal 

wastage 10% of input, then what will be the abnormal gain units ? 

   (A) 100 units (B) 200 units 

(C) 300 units (D) 400 units

(2) Sales units 25,000, opening stock 4,000 units. Closing stock 5,000 units, 
then product will be ? 

   (A) 25,000 units (B) 26,000 units

(C) 20,000 units (D) 21,000 units

(3) Product cost of process No. 1 is ` 50,000. If profit is added at 20% on 
transfer price or 25% on production cost, show the amount of profit in both 
cases.

   (A) ` 12,500 and ` 10,000 (B) ` 10,000 and ` 10,000

(C) ` 12,500 and ` 12,500 (D) ` 10,000 and ` 12,500 

(4) Units introduced in process-X 30,000 units, normal wastage 8% of input. 
Actual production 27,000 units. 

   From given information find out units of abnormal wastage. 

   (A) 2,400 (B) 3,000

(C) 240 (D) 600
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(5) Which items is not recorded in process accounts ?

   (A) Wages (B) Salary

(C) Donation (D) Material

(6) In process-X 50,000 units were introduced at a cost of ` 5,50,000 and 

44,000 units at a cost of ` 13,20,000 were transferred to process Y. In 

process X, a normal wastage of 5,000 units realized ` 35,000. Find out the 

cost of abnormal wastage. 

   (A) ` 7,000 (B) ` 30,000 

(C) ` 37,000 (D) ` 47,000

 

2. (A) The following details related to process no. 2 in factory. 14 

Particulars 
Degree of 

completion 

No. of 

units 

Cost  

(`) 

Opening work-in-progress:  450 18,450 

Material 50%   

Labour 80%   

Overhead  80%   

Transfer from Process-1 100% 5,700 2,05,200 

Process cost :    

Material   11,850 

Labour charges   56,100 

Overheads   22,440 

Transfer to Process-3 

(Finished goods) 

100% 5,250  

Closing work-in-progress  900  

Material 100%   

Labour  80%   

Overhead  80%   
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  Prepare : 

  (A) Accounts for Process No. 2. 

  (B) Statement of equivalent units (on FIFO base)  
  (C) Statement of cost on the basis of equivalent units. 

OR 

  A certain product passes through three processes before it is transferred to 
finished stock. The following information relating to production is obtained for 
the month of March – 2018.  14 

Particulars 

Process-X Process-Y Process-Z Finished 
Stock 

` ` ` ` 

Opening stock 60,000 36,000 30,000 75,000 

Direct materials 39,000 60,000 1,20,000  

Direct wages 30,000 31,500 1,50,000  

Production overheads 30,000 75,000 75,000  

Closing stock 15,000 18,000 96,000 99,000 

Profit % on transfer price 
to the next process 

20% 25% 10%  

Inter process profit for 
opening stock 

– 6,000 8,400 30,000 

  Stock in process are valued at prime cost and finished stock has been valued at 
the price at which it was received from process Z. Sales during the period were   

` 9,00,000. 

  Prepare and compute : 

  (i) Process cost accounts showing profit element at each stage. 

  (ii) Actual realized profit. 

  (iii) Stock valuation for balance sheet purpose.   
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 (B) In the following sub-questions more than one answer is given of which only one 
answer is correct. Select the correct answer. (any four)  4 
(1) In the equivalent production method of process account, which statement is 

to be prepare to find material cost per unit ? 

   (A) Statement of cost (B) Statement of equivalent production

(C) Statement of evaluation (D) Process account

(2) Particulars of process-A are as under : 

Opening stock 

(Degree of completion : material 75%) 

12,000 units 

Finished goods 35,000 units 

Normal wastage 2,500 units 

Closing stock 

(Degree of completion : material 60%) 

7,500 units 

What will be equivalent units of materials as per FIFO method ? 
   (A) 39,500 units (B) 30,500 units

(C) 42,500 units (D) None of the above

(3) To find out the expected cost of finished production, the stock of work-in-
progress is to be converted into finished units for each element of the cost. 

   (A) Incomplete (B) False

(C) True (D) Can’t say

(4) Information of Anisa Co. Ltd. is as follows: 

Particulars 

Closing 

       Stock 

 Unrealized 

       profit 

      `      ` 

Process-X 60,000     – 

Process-Y 1,20,000 20,000 

Process-Z 2,00,000 24,000 

Finished stock 3,00,000 28,000 

Stock valuation for balance sheet will be as under : 

   (A) ` 3,00,000 (B) ` 72,000 

(C) ` 2,72,000 (D) ` 6,08,000
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(5)  “Three columnar” process account is prepared while preparing process a/c 
to calculate the unrealized profit in stock and to calculate the transfer price. 

   (A) False (B) True

(C) Incomplete (D) Can’t say
(6) In inter-process profit method, from the following information of process-2, 

find apparent profit in process-2.   
Inter process profit in opening stock ` 8 000
Inter process profit in closing stock ` 12 000
Actual profit ` 38 000

   (A) ` 42,000 (B) ` 34,000

(C) ` 58,000 (D) ` 46,000

 
3. (A) The following figures are taken from the book of a manufacturing concern for the 

year 2017-18.  14 

 `  
Direct materials 5 00 000

Direct labour 2 50 000

Direct expenses 1 50 000

Factory overheads 5 00 000 (60% variable) 

Office overheads 6 00 000 (80% fixed) 

Sales overheads 3 00 000 (60% variable) 

Profit 2 00 000
  Calculate : 
  (i) Breakeven point. 
  (ii) Margin of safety. 
  (iii) Profit, when sale is  ` 30,00,000.  
  (iv) Amount of profit / loss when sales decline by 20%.  
  (v) Amount of profit / loss when variable cost decline by 10%. 

OR 
  Write short notes : (any four) 14 
  (i) Profit-volume ratio 
  (ii) Margin of safety 
  (iii) Key factor 
  (iv) Absorption costing and marginal costing 
  (v) Opportunity cost 
  (vi) Relevant cost 
  (vii) Break-even chart 
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 (B) Answer the following questions in one / two lines : (any three) 3 
(1) What is contribution ?  

  (2) Explain angle of incidence. 

  (3) Which products should be manufactured to get maximum profit when 
material is a key factor ? 

  (4) Explain historical cost. 

  (5) Explain step cost. 

 

4. (A) Vaishali Ltd. and Nirali Ltd. were amalgamated on from 1-4-2018. A new 
company Sonali Ltd. was formed to take over the business of both existing 
companies. Following are the balance sheets of both the companies as on  
31-3-2018.   14 

                         Balance Sheet 

Liabilities 
Vaishali 

Ltd. ` 

Nirali 

Ltd. ` 
Assets 

Vaishali 

Ltd. ` 

Nirali Ltd. 

` 

Share capital :      

Equity shares of 

` 100 each fully 
paid up  37,50,000 30,00,000 

Fixed Assets 45,00,000 31,50,000 

Reserves & 
Surplus : 

  Current 
Assets 

15,00,000 13,50,000 

General reserve 7,50,000 6,75,000    

Revaluation 
reserve 3,00,000 1,50,000 

   

Investment 
allowance 
reserve 1,20,000 30,000 

   

Profit & loss a/c 1,50,000 2,25,000    

Secured Loan :      

15% debentures 
(each ` 100) 6,00,000 3,00,000 

   

Current 
Liabilities : 

     

Creditors 3,30,000 1,20,000    

 60,00,000 45,00,000  60,00,000 45,00,000 
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  Additional Information :  

  (1) 15% debenture holders of Vaishali Ltd. & Nirali Ltd. are discharged by 

Sonali Ltd. issuing such number of its 10% debentures of ` 100 each so as 
to maintain the same amount of interest.  

  (2) Sonali Ltd. will issue 4 equity shares for each equity share of Vaishali Ltd. 

and Nirali Ltd. The shares are to be issued ` 30 each, having a face value of 

` 10 per share. 

  (3) Investment allowance reserve is to be maintained for 2 more years. 

   Assuming that the amalgamation is in the following two forms. Prepare 

Balance Sheet of Sonali Ltd. as on  1-4-2018.  

   (i) The amalgamation is in the form of merger. 

   (ii) The amalgamation is in the form of purchase. 

OR 

  (i) Explain amalgamation in form of merger and in the form of purchase under 

Accounting Standard-14. (AS - 14) 7 

  (ii) What is amalgamation of companies ? Explain various methods for 

calculating purchase consideration under amalgamation.  7 

 

 (B) Answer the following questions in one / two lines keeping in view accounting 

standard-14. (any three) 3 

 (i) How excess amount paid while purchasing business is recorded under both 

the method of amalgamations ? 

(ii) Which two types of amalgamations are mentioned in AS-14 ?

(iii) What is statutory reserves ? 

(iv) Describe the treatment of goodwill under purchase method of 

amalgamation.

(v) When is an amalgamation considered as the amalgamation in the nature of   

merger ?  

_________


